
 
i.50 

 
e.50

 
 380  

i.38,2 

 
i.3

2,
8 

 
e.50

 

 
i.50 

E13 92R - 01 10392

N°2 Knurled collar
screw M8X12 T.E.
Cod.206731

N°2 Knurled 
collar nut M8 
Cod.200298

Stainless steel bracket
Purchase cod.206386
Product cod.3015003501

Stainless steel bracket
Purchase cod.206386
Product cod.3015003502

N°2 Allen screw
M8X45 T.C.E.I.
Cod.200319

DX silencer
Classic Racer Øi 50
Cod.3015000481

Pipe N° 1134
Cod.3015003201

N°2 Graphite Bushing
38 x 32 x H.30
Cod.205290

N°2 Strap-in stainless
steel Ø41
Cod.300041530

Pipe N° 1118
Cod.3015002201

N°2 Extra-Short helical
spring tensile
Cod.308574001

N°2 Aluminium 
spacer 25X18X8.5
Cod.200617

SX silencer
Classic Racer Øi 50
Cod.3015000482

N°2 Knurled collar
screw M8X14 T.E.
Cod.206737

Rubber cap
Cod.200267

Stainless steel bracket
Purchase cod.206387
Product cod.3015003503

 
10

4 

Db-Killer Ø25
Cod.303457801

Art. 15003

TRIUMPH  BONNEVILLE  T120

Slip-on "Classic Racer"  - APPROVED -


	Foglio1
	Vista del disegno14
	Vista del disegno16


